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3 paragraph
Compliance

This means that the deformation is stiffness times load. This means that the deformation is compliance times load.

19 formula 10.3
kAC kBC

20 above figure
10.14

a factor 1.5. a factor 3.
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26 formula 10.25

σ(ρ, y, φ) = 0 τ(ρ, y, φ) = τmax ·
2z

t
σ(x, y, z) = 0 τ(x, y, z) = τmax ·

2z

t

27 formula 10.26 variable h variable t

28 thickness in fig-
ure of thin tube t = q t =

q

2

30,
31

equations
10.29, 10.30,
10.31, 10.33

θ could have been expressed in L and h

ktruss =
Eh3Lt

4L4 + 4L2h2 + h4

31 equations
10.32, 10.34 ht3 h3t
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31 line six from
bottom of page

height to length ratio h/L length to height ratio L/h

31 line two from
bottom of page

stiffness almost the same as the stiffness of the sheet that is not the case, it is not almost the same

32 figure 10.34 stiffness of symmetrical truss should be as in figure:

32 equation 10.36 equation of stiffness is wrong

ktruss2 =
4ELh3t

16L4 + 8L2h2 + h4

33 first sentence stiffness almost the same as the stiffness of the sheet that is not the case, it is not almost the same
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38 formula 10.48,
line 3 and 4 (12a2 − 12 + 4
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(12a2 − 12a+ 4

)
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38 formula 10.49,
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45 formula 10.68,
line 5 β =
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51 equation 10.72
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